补充习题第1页
1.17      180      400
170     1800     4000
2.600      130     300

  800      2400    3000

  1200     1000    3000

3.1200    600    250

4.90×40=3600（克）

                           补充习题第2、3页
1.200     1400     1200

  900     600      1200

  400     640      250

2.288     1056

3.924     504
4.403     528      882

5.12×14=168（人）

6.（1）23×12=276（千克）

  （2）12×42=504（元）

7.52×5=260（人）

52×6=312（人）

52×7=364（人）

6辆

练习与测试第2页

1.B  C  C

2.18×10=180(瓶)

3.78×50=3900（元）

  3900<4000

够

4.3+49=52（人）

  52×18≈1000（元）

练习与测试第3页

1.1 43

  20  860

  21  903

2.882    416     726

3.11×18=198（元）

   5×42=210（元）

   198<210

   不够
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